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	Sr. No.
	Questions
	CLO
	PLO
	Taxonomy Level
	Marks

	1
	a)  If Pt=10W, Gt=10dB and L=1dB at 900 MHz compute the received power for the knife edge geometry shown below . Compare this value with the theoretical free space received power is an obstruction did not exist.  What is the path loss due to diffraction for this case?
[image: 5. 5. If P-10 W, G10dB, G 3dB and L-1 dB at 900 MHz compute the received power for the knife-edge geometry shown below Mounta]
b)  If the received power at a reference distance d0 = 1 km is equal to 1 microwatt, find the received powers at distances of 2 km, 5 km, 10 km, and 20 km from the same transmitter for the following path loss models: a. Free space; b. n = 3; c. n= 4; d. two-ray ground reflection using the exact expressions; and e. extended Hata model for a large city environment. Assume f=1800MHz, ht =40m, hr =3m. Gt = Gr = 0dB. Plot each of these models on the same graph over the range of 1km to 20km. Comment on the differences between these five models.

	2
	2
	4
	5

	2
	a) For the following digital wireless systems estimate the maximum rms delay spread for which no equalizer is required at the receiver (neglect channel coding, antenna diversity, or use of extremely low power levels).

[image: ]
b) Discuss the following
1. Pseudo-Noise(PN sequence)
2. QPSK Modulation Technique

	2
	2
	4
	5
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5. 5.IfPy=10 W. G;=10dB. G;= 3dB and L=1 dB at 900 MHz compute the received power
for the knife-edge geometry shown below
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Compare this value with the theoretical free space received power is an obstruction did not
exist. What is the path loss due to diffraction for this case?
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Solution of end problem
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Solution of end problem 5.16

For the following digital wireless systems estimate the maximum rms delay spread for which
no equalizer is required at the reciever (neglect channel coding, antenna diversity, or use of
extremely low power levels).

System RF DataRate  Modulation
UsDC 48.6 kbps /4 DQPSK
GSM 270.833 kbps GMSK
DECT 1152 kbps GMSK
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